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20234 Olah LB AL A
FA AEAIE A
3 A& 2435
CHol: AIQIZIZAIM O F B2 (9 ®el)
SA - BH - SRI(B) - MRAR - BAS 0f v e HIDEY
[EArE A 2,272,493 1,098,814 1,173,679
A& st 744,024 493,953 250,071
ANElg|ZAIELl zIH 2t 744,024 493,953 250,071
22t =Xl2c 614,388 379,856 234,532
101 @124d| 77,218 50,201 27,017
M OIRINZZ2XNSE S 77,218 50,201 27,017
OAlglg|et -3 EH| If(3Y) 77,218
== 2,010,580 «3E ~12& 72,381
YU 94,0502 x38 122 3,386
PN y= ) S 80,560 x3H 6 1,451
201 24| 304,040 248,295 55,745
01 At 2t2lBl 49,840 43,175 6,665
onlastE el 2,000,000& 2,000
O&LHEHI A2 EH] 500,000& 500
O™HAXI A S24|
8,00021*7&*1004! 5,600
OSEHAE SEAN M
500,000 500
Q&I =42 (Al23]2t)
440,000« 123 5,280
OaYotM g2 (AR5 2)
250,000&x 12 3,000
Ot AE ZIIBE+=+&
1,000,000 1,000
O&IINE ZI8E+=+5
1,000,000& 1,000
OBARIBH 2 (Aea2, FAEHE53]
2) 375,000 x 12 4,500
OFMASUHES (AILISI2 2 2)H4)
375,000 x 12 4,500
OgzHM e 300,000& * 122 3,600
Odz=)| 428 25 4= 72
2,000,000& 2,000
Od=J| & SJI1E&J], "t &xt
11,620,000& 11,620
OZd=AD| SRz 220,000 12 2,640
Ox=g% 2cied d=57¢
150,000 +8 1,200
OJt=2H =2 & KA
300,000& 300
OJIZHMZZ2T s sEg
100,000 3 *23] 600
02 s2=24bl 254,200 205,120 49,080
OXt& R IBI 1,500,000 1,500
OZADIARS(AlRIZ2)
1,900,0002 122 22,800




A ANEAE A
A AIZHE 2435t
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Chel: AIRIBIZAIE O] EH 2 (cHol:2Sl)
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
Odol=ER= 1,400,000& «12& 16,800
OFIIZ(AIISI ) 6,000,000/ * 122 72,000
OANEZHISTLI(L - L B2 2 BEHE
) 5,000,0002 5,000
ONEZHIRAIHI (A 2E)
12,000,000 12,000
OAIEZHIKXIEI(ZI], 01, A8, E41 S)
15,000,000& 15,000
Os&II= A2l 500,000& * 122 6,000
O3 UDIAIS X 2el]
13,000,000 13,000
ORUSEEHEHIK X
8,000,000& 8,000
OAgetdE | 100,000& 100
Oet=2st0l=312t A3 3/l
5,000,000& 5,000
Oxtad s F2E3HI 5,000,000 5,000
OBAIZCIE HE HIEH] 3,000,000& 3,000
OAgla2t U - 2/2 HAEH(23])
26,000,000& 26,000
O&HE L0t ==cl 11,000,000 11,000
OMsZ He 2SMHE & 228 Wil
25,000,000& 25,000
OXZ==27Y & KA
7,000,000 7,000
203 R =& 3,500 3,500
03 A=A RFTH] 3,500 3,500
OAIEAIRIA ABERADEAY|
3,500,000 3,500
206 M= Hl 2,000 2,000
01 =8l 2,000 2,000
OxXgss 4223 1,000,000 1,000
O&IIX 423 1,000,000 1,000
401 AlZHIZ S 0HYI 163,000 74,000 89,000
IR E=1:1 163,000 74,000 89,000
OAlglg] 2 L HESA 13,000,000 13,000
O38% [FUse MHEAE
17,000,000 17,000
OBH U M2, MAM 2R 2292
17,000,000 17,000
OAlglz|2t O RIatE A JHe (2F)
15,000,000 15,000
OF A& Hell &X 35,000,000& 35,000
OAl2Ig|2t JtAAIE WA
11,000,000 11,000




SAAIEAEA
BE: AL 2as
B AIRIBIZAIE S EF 2 (Gt M)
SA - BB SRI(B) - MRAR - BAS Of v e HIDEY
OAlgls|et g HI|tdE A (33)
5,000,000 32 15,000
ORUAIE FJ| AHSA
11,000,000& 11,000
OU=R 2lHielo =823 &R
22,000,000& 22,000
O&=x4 d2+I| N3l
7,000,000 7,000
405 KHakE S| 64,630 1,860 62,770
01 Tt =S FI=H] 64,630 1,860 62,770
OCCTV D101 &EXI(AlRIE2, HAERE3
2) 55,000,000 55,000
OYB22T HIIA HET 79
550,000& 550
O3¢& 24| 404, HI0IZ2 2 9,080
-1els AU 440,000 * 120K 5,280
-HloI= 200,000 =4k 800
-“2EE 3,000,000& 3,000
FAHE Zstela 2el 129,636 114,097 15,539
101 Q14| 40,436 25,897 14,539
M4 IIZtNZ2Z2XNSE S 40,436 25,897 14,539
O&e+=8% USXIFA 2R 5,811
s ,223, 760318 +2& 4,448
-RE2fxE 127,680 *1H* 10 1,277
RPN Y= S 85,1208 x1E~1& 86
OAQISAT IO Q29 (SA Edl) 3,125
IE2(EE) 3,657, 50021%124x22) 7,315
—HUATDR4(DF)
210,000 «1Z*10 2,100
RS FIITEH(BE)
140,000 x1E*1 140
-JI22(88) 3,135,000 «3H ~2& 18,810
-RUHEI2H(EY)
180,000 x3& » 10 5,400
RPNE =Pl S 120,000 x3& *1& 360
OUSERA & HEQEA TS|
100,000 +5&H 500
201 &E=3H| 41,200 25,200 16,000
01 AtR2t2l8l 4,000 4,000 0
Oa+3& ~2=5457Y
4,000,000 4,000
02 s=5=2gH| 37,200 21,200 16,000
Oa+=3&+EH=I| KA
3,500,000& 3,500
OFadsi2 & +3& Al2&4l =Xl
15,000,000 15,000




A ANEAE A
A AIZHE 2435t
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Chel: AIDIBIZAIMS R B2 (B9l mel)
SN - B - BRA(S) - HIRAR - BAS 0f st e HIDEZ
Ode=g& 0INE LXE HIEHE 7L
mEy 10,000,0002! 10,000
ONSI4+YE ALY HaMBEE
2,700,000& 2,700
(@)=3=lEN==YNF-EEIN]:] 1,000,000 1,000
OFadsd & =88 4 89
5,000, 0002 5,000
INECEEST] 42,000 63,000 £21,000
01 A& 42,000 63,000 A21,000
Mo weiy g3 i
30,000,000& 30,000
Oae=gd 1eolg wX
12,000,000 12,000
405 AbatE SH 6,000 0 6,000
01 TR LESFHSHI 6,000 0 6,000
OUSXE Yaal SHOIA 204D
6.,000,000& 6,000
2SHANE =5 1,269,151 388,333 880,818
SSHAES EH 2L 1,269,151 388,333 880,818
2SE =Al2c 1,269,151 388,333 880,818
101 14| 92,691 49,793 42,898
M4 JIZtNZ2Z2XNSES 92,691 49,793 42,898
OSEF 0RIZHl 2R (2) 37,345
122 (5A12H/F52)
1,260,220 «2& « 12& 30,246
-MEYZ 58,9502 x2E* 122 1,415
-Of2t=& 5,040 x2H+222U x 12 2,662
VNS Y= T S 50,3502 x2H 6 605
-F42f=H 75,5308 x2&* 162 2,417
O2sE FAtael =2 (2Y) 55,346
-Jl2s 2,010,580 «2&~12& 48,254
4= 94,0502 x2H 123 2,258
-AXReERFIE 80,5602 x2H 6 %67
-ReZ2f=E 120,840 «2H 162 3,867
201 23| 323,440 233,840 89,600
01 At2telsl 42,560 39,012 3,548
OBAKIZ L ALZ2IR 24|
8,0003+6& * 1004 4,800
OHLMARZHI(SAX S)
1,000,000& 1,000
ORI sStE HESH| 1,500,000 1,500
OJI12HHl HEHARIE HEE
150,000 x3Z *23] 900
OZE2sd staa 4 SH(1HL)
22,000,000& 22,000
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ANEAIS A

Zu: SSTAM 545
&2l 2STEAEL xH 2 (CHel: M 2l)
SA - B . B(30) - HSAIY - BAS Ofl &kt e HImE2
OZd=AD| Xtz 170,000« 123 2,040
Otz & 22 s S HE
1,000,000& 1,000
OFIIOF HE4+4B(ZH2SSH)
300,000 12 3,600
Oagotdae|Hdls++2(SE2SY)
3,200,000& 3,200
OBAISOIZHIAAE |
210,000& 123 2,520
02 2324l 280,880 194,828 86,052
OZezsd HIes
8,500,000& x12& 102,000
OZESESSE Mol+E 23
1,200,000& 123 14,400
OXtgt= Al 3,000,000& 3,000
(@F<E=2"1s|| 7,500,000 7,500
Ost&al gty 2 165,000« 123 1,980
OxZ=23Z & szl 1,000,000& 1,000
OA&EHIR ALl 100,000, 000& 100,000
OQIetoI & Hiar MAEHZ
300,000 300
O&3x =N 3,000,000& 3,000
O&I| & A8 AP EH| 2,000,000& 2,000
O=9ddA 1,500,000 *23| 3,000
OQZZACISX AU (B, SET B5)
30,000,000& 30,000
OCCTV= Al 22l 500,000 & %43 2,000
O2sd 234 L 4,500,000 23] 9,000
Os&J1 KXzl 1,700,000& 1,700
206 M=l 3,700 23,700 220,000
01 =4I 3,700 23,700 A20,000
ON4e ¥ 28 2l &3
7,500& x200% 1,500
ONM=H 7l 2,000,000& 2,000
OHM=J| & 4861013 dAY 2
200,000& 200
401 A& HIZ20HY| 846,000 81,000 765,000
01 Al&Hl 846,000 81,000 765,000
OZe2sd = Y MdEIA
40,000,000& 40,000
OZg=2sd ZZE L SI17 uX
750,000,000 750,000
OZEBSER A4 21222
50,000,000& 50,000
OZ2sE H2SAld=2 I EE
3,000,000& »23| 6,000




A ANEAE A
I 2SHANE =F

&2l 2STEAEL xH 2 CERE)
SA - B . B(30) - HSAIY - BAS Ofl &kt e HImE2
405 KHabE SHI 3,320 0 3,320
01 ML SEFHSHI 3,320 0 3,320
Oz 2 oXt72e 3,320
—ZH At 350, 000& *4H 1,400
-SEA 280,000 *4H 1,120
-2| Xt 200,000 4K 800
FUHSHH AldeEs L 23 232,558 187,768 44,790
=0IHSFHE2 EH22 232,558 187,768 44,790
=0MSHE SR 232,558 187,768 44,790
101 @I 4| 74,020 68,410 5,610
M IIHZ22NSES 74,020 68,410 5,610
OZ0HM=HEH FAr2te] 12 55,346
-Jl2=(8Al2H/F=52)
2,010,580 x2F+12& 48,254
-MERIF 94,0503 x2H 123 2,258
PR == =, 80,560 x2 B +6 967
-RY2FY 120,840 x2H » 16 3,867
O=0MSHE oREHl IR (HAU1H) 18,674
Jl2=2(5Alzt/F=54)
1,260,2202 1B+ 128 15,123
= 58,9503 x 15123 708
-OF2t=gf 5,040« 1H 222« 12& 1,331
PR =T =D =, 50,350 *1H 6 303
-SY2fY 75,5302 * 18+ 162 1,209
201 LBr249h| 150,838 107,158 43,680
01 AtR2teld] 16,518 13,538 2,980
OHAEHI A2 EH| 1,000,000& 1,000
OZIN1HEI| LRtz (20H)
53,900 x2CH* 123 1,24
O A2l E HE MIEHI 2,350,000& 2,350
OZdH=AD| etz 198,000& =123 2,376
OoHlE U B2 Hast £ WA
1,000,000& 1,000
OJI2HHl 2Z2XIHE SAMRIE B
150,0002 *3E *23] 900
OFIIHN 2 (SRIXKHH)
187, 0008 * 122 2,244
OALOIE 42T (20IHFHE)
232,000& 123 2,784
OZHSHH S13H 24
2,570,000& 2,570
02 SE=2gl 134,320 93,620 40,700
Oxtgt= bl 3,000,000& 3,000
OAN&EHISXIBI(HA2) 12,000,000 12,000




A /\I’\"M:._A_
I 2WIHSME ALEE L 29
=Pl SUMSAES A2 (Gt M)
SA - B . B(30) - HSAIY - BAS Ofl &kt e HImE2
OstEs S FA83H 2,000,000 2,000
O3X0] 2H +& 5,000,000& 5,000
OM=Zx 3 700,000& 23| 1,400
ou - 28 F4E29Y 11,000,000& 11,000
OCCTV ¥ SAIAIE, SEEH FA2=H|
2,500,000& 2,500
ORUUMFHE ZAIIIARS(2HA)
3,250,000 =123 39,000
O=RSHE #7123
3,250,000& 123 39,000
OZHMEHH &ot=ER=
600,0002*12& 7,200
OO0 A= X 2t2id] 10,000,000& 10,000
O=CNsHH 5271 SA22ltl
185,000« 123 2,220
206 M= 8l 1,700 2,200 AB00
01 M=Hl 1,700 2,200 AB00
OFINKM 222 1,200,000& 1,200
OM=N 7 500,000 500
401 AIEHIZL 2018 6,000 10,000 24,000
01 Al&HI 6,000 10,000 4,000
OZCHSHEH HA AYAIE Wi
6,000,000& 6,000
Y2 AHI(AEAIA) 26,760 28,760 A2,000
Jl2Z3HI(AIEAIE A) 26,760 28,760 A2,000
JI2Z3HI(AIEAIE A) 26,760 28,760 A2,000
201 et AH| 17,200 17,200 0
01 At 22| 17,200 17,200 0
ORN2IAIR2tel] 10,000,000 10,000
O] 60,0003 *1E*120 7,200
202 (4t 6,000 8,000 A2,000
01 =W OiHI 6,000 8,000 A2,000
OJl2gR+80{d(14%) 6,000,000& 6,000
203 PR F&IL| 3,560 3,560
02 HRIHAHARFAIL] 560 560
OFJ AR FXY| 40,0003 *14H 560
M EA2IHRFAL 3,000 3,000 0
O2M2YHRFRIH|(15210101)
250,000 12 3,000




